VINCENT J. DEROSE T 613 787.3589 vderose@blg.com

Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St. Suite 1300 Ottawa, ON, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 blg.com



Our File # 339583-000184

#### By electronic filing

January 8, 2015

Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge Street 27<sup>th</sup> floor Toronto, ON M4P 1E4

Dear Ms. Walli

Re:	Union Gas Limited ("Union")
	2015 Rates Application
Board File #:	EB-2014-0271

Pursuant to the Board's Decision and Rate Order dated December 18, 2014, in the above-noted proceeding, we enclose a Cost Claim on behalf of our client, Canadian Manufacturers & Exporters ("CME").

A copy of this Cost Claim has been forwarded to Union as instructed in the Decision.

Please contact the undersigned if you have any questions or require any additional information.

Yours very truly

Vincent J. DeRose

\slc enclosure

C. Chris Ripley (Union)
Crawford Smith (Torys)
Paul Clipsham (CME)

OTT01: 6726728: v1

### Ontario Energy Board COST CLAIM FOR HEARINGS



### **Affidavit and Summary of Fees and Disbursements**

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

	In	structions			
- Required data input is indicated by yellow-shaded fiel	lds. Formulas ar	e embedded in t	he form to	assist with calculati	ons.
- All claims must be in Canadian dollars. If applicable,	state exchange	rate and country	of initial c	urrency.	
	Rate:			Country: _	
- A separate "Detail of Fees and Disbursements Being C Being Claimed") is required for each lawyer, analyst/co Disbursements" covering the whole of the party's cost - The cost claim must be supported by a completed Aff - A CV for each consultant/analyst must be attached un Except as provided in section 7.03 of the	onsultant and ar claim should be idavit signed by nless provided t	ticling student/p e provided. a representative o the Board as pi	aralegal. He of the par	lowever, only one " rty. n the Cost Award Ta	Summary of Fees and ariff.
File # EB- 2014-0271	Process: L	Jnion Gas Lin	nited 201	.5 Rates Applica	tion
Party: Canadian Manufacturers & Expo	orters	Affiant	's Name:	Vincent J. DeRo	ose
HST Number: 10807 5482 RT0001			HST	Rate Ontario:	13.00%
Full Registrant			Qualify	ving Non-Profit	
Unregistered			ζοισ,	Tax Exempt	
Other	<b>V</b>				_
		Affidavit			
I, Vincent J. DeRose	,	of the City o	of	Ottawa	
in the Province of O	ntario			, swear or affi	rm that:
1. I am a representative of the above-noted party (the 2. I have examined all of the documentation in support Claimed", "Statement(s) of Fees Being Claimed" and "S 3. The attached "Summary of Fees and Disbursements Being Claimed" include only costs incurred and time sp referred to above.  4. This cost claim does not include any costs for work of the cost of the co	t of this cost cla statement(s) of Being Claimed" ent directly for	im, including the Disbursements B , "Statement(s) c the purposes of	attached ' eing Claim of Fees Beir the Party's	'Summary of Fees and ".  ng Claimed" and "Stap participation in the	nd Disbursements Being atement(s) of Disbursements Ontario Energy Board process
sections 6.05 and 6.09 of the Board's Practice Direction			that is an o	employee of officer	or the rully as described in
Signature of Affiant					
Sworn or affirmed before me at the City	of (	Ottawa			
in the Province of Ontario	-	, 01	n	January 🎖 ,	2015 .
Hudd				(date)	×
Commissioner for taking Affidavits					

### Ontario Energy Board COST CLAIM FOR HEARINGS



### **Affidavit and Summary of Fees and Disbursements**

File # EB- 2014-0271 Process: Union Gas Limited 2015 Rates Application

Party: Canadian Manufacturers & Exporters

Sumn	nary of Fees and Disbursements Being Claimed	
Legal/consultant/other fees	\$14,118.00	
Disbursements	\$415.75	
HST	\$1,889.39	
Total Cost Claim	\$16,423.14	

#### **Payment Information**

Make cheque payable to: Borden Ladner Gervais LLP

Send payment to this address: Borden Ladner Gervais LLP

Attention: Peter C.P. Thompson, QC

**World Exchange Plaza** 

100 Queen Street, Suite 1300

Ottawa, ON K1P 1J9

### Ontario Energy Board COST CLAIM FOR HEARINGS



### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2014-0271	Process:	Union Gas Limited 201	5 Rates Application	
Party:	Canadian Manufacturers & Ex	porters	Service Provider Name:	Peter C.P. Thompson, QC	
	Service Provider Type	(check one)	Year Called to Bar	•	rs Practising/Years It experience
	Legal Counsel	[\forall ]	1967		15+
	Articling Student/Paralegal		E	\$	
	Consultant			Hourly Rate:	\$330.00
	Analyst			<b>L</b>	
	For Consultant/Analyst:		CV attached	HST Rate Charged (enter %)	13%
			CV provided within previous	24 months	

For Consultant/Analyst:		CV attached		HST Rate Charged	(enter %)13%
		CV provided	within previous	24 months	
St	atement c	of Fees Bei	ng Claimed		
	Hours	Hourly rate	Subtotal	HST	Total
Preparation	1.10	\$330.00	\$363.00	\$47.19	\$410.19
ADR - Settlement Conference			WWW.SCOLLEGE.CO.		
Preparation	3.80	\$330.00	\$1,254.00	\$163.02	\$1,417.02
Attendance	4.90	\$330.00	\$1,617.00	\$210.21	\$1,827.21
Proposal Preparation	24.60	\$330.00	\$8,118.00	\$1,055.34	\$9,173.34
Case Management		\$170.00	\$0.00	\$0.00	\$0.00
TOTAL SERVICE PROVIDER FEES			\$11,352.00	\$1,475.76	\$12,827.76
Statem	ent of Disk	oursement	s Being Clain	ned	
	·	<del></del>	Cost	HST	Total
Scanning/Photocopying: 1,463 copies @ \$0.25 each			\$365.75	\$47.55	\$413.30
LPIC Levy Surcharge (as in previous cost claims)		***************************************	\$50.00	\$6.50	\$0.00
Other:				\$0.00	\$0.00
		1	<u> </u>		
TOTAL DISBURSEMENTS:			\$415.75	\$54.05	\$413.30



File #:	EB-2014-0271		
Process:	Union Gas Limited 2015 Rates Application		
Party:	Canadian Manufacturers & Exporters		
Name:	Peter Thompson		
Sep 18-14	Considering Union's application and related correspondence; composing and finalizing CME's request for intervenor status and cost award eligibility	0.5	Preparation
Oct 1-14	Reviewing Union Notice of Application and covering letter to the Board	0.2	Preparation
Nov 11-14	Considering emails from Union Gas and J. Girvan	0.2	Preparation
Nov 13-14	Reviewing pre-filed evidence and Interrogatory Responses; email exchange with V. DeRose, E. Blanchard	3.8	Settlement Conf. Prep
Nov 14-14	Attendance at Settlement Conference by telephone	4.9	Settlement Conf. Attend
Nov 14-14	Considering and composing email to J. Shepherd and J. Girvan	1.0	Settlement Conf. Proposal Prep
Nov 17-14	Considering and responding to various emails from intervenor representatives and from Union re: unresolved issues	1.8	Settlement Conf. Proposal Prep
Nov 18-14	Considering and responding to various emails re: outstanding issues	1.5	Settlement Conf. Proposal Prep
Nov 18-14	Arranging conference call; participating in conference call; follow-up emails to Union representatives	1.9	Settlement Conf. Proposal Prep
Nov 18-14	Considering and responding to email from J. Shepherd	0.2	Settlement Conf. Proposal Prep
Nov 19-14	Considering email from M. Kitchen, voicemail message from C. Smith; email to intervenor representatives	0.2	Settlement Conf. Proposal Prep
Nov 19-14	Email to M. Ross of TCPL; considering email from R. Higgin; considering email from J. Shepherd and J. Shepherd and J. Wightman	0.3	Settlement Conf. Proposal Prep
Nov 19-14	Considering and preparing letter to Union re: Dawn compression issue	0.9	Settlement Conf. Proposal Prep
Nov 19-14	Email to M. Kitchen and intervenor representatives	0.2	Settlement Conf. Proposal Prep
Nov 19-14	Considering and responding to emails from several intervenor representatives	0.6	Settlement Conf. Proposal Prep
Nov 20-14	Considering email exchange with Union	0.3	Settlement Conf. Proposal Prep
Nov 21-14	Considering and composing emails to Union and to intervenors; reviewing information provided by Union re: Brantford-Kirkwall Project	1.8	Settlement Conf. Proposal Prep



Nov 24-14	Considering email from C. Ripley; considering emails from R. Aiken; further emails to C. Ripley and R. Aiken	0.4	Settlement Conf. Proposal Prep
Nov 24-14	Considering and responding to C. Ripley's email	0.1	Settlement Conf. Proposal Prep
Nov 25-14	Considering email from C. Ripley; email to R. Aiken; email to C. Ripley	0.3	Settlement Conf. Proposal Prep
Nov 25/14	Organize and prepare for further intervenor Settlement Conference	1.0	Settlement Conf. Proposal Prep
Nov 25-14	Conference call with intervenors	0.5	Settlement Conf. Proposal Prep
Nov 25-14	Considering and composing email to intervenor representatives on outcome of conference call	1.5	Settlement Conf. Proposal Prep
Nov 26-14	Considering and composing email to Union re: further conference call on outstanding issues	0.8	Settlement Conf. Proposal Prep
Nov 26-14	Email to Union re: change in conference call timing	0.2	Settlement Conf. Proposal Prep
Nov 26-14	Considering emails from various intervenor representatives	0.2	Settlement Conf. Proposal Prep
Nov 27-14	Email to Union re: further information; telephone call from C. Smith; preparation for conference call with Union; attending on conference call with Union; subsequent conference call with intervenor representatives; composing a draft proposal for intervenors' consideration	3.5	Settlement Conf. Proposal Prep
Nov 28-14	Dictate draft email to intervenors	0.8	Settlement Conf. Proposal Prep
Nov 28-14	Revising and finalizing email to intervenors	0.8	Settlement Conf. Proposal Prep
Dec 1-14	Considering emails from intervenor representatives	0.3	Settlement Conf. Proposal Prep
Dec 1-14	Drafting and finalizing email to Union representatives re: settlement	0.9	Settlement Conf. Proposal Prep
Dec 1-14	Reviewing Union's further draft of Settlement Agreement	0.5	Settlement Conf. Proposal Prep
Dec 1-14	Considering, composing and finalizing email to Union representatives	1.0	Settlement Conf. Proposal Prep
Dec 2-14	Considering emails from Union representatives; conference call with M. Kitchen and C. Ripley	0.5	Settlement Conf. Proposal Prep
Dec 3-14	Considering and revising Settlement Agreement provision; considering email exchange between Union and other intervenors	0.5	Settlement Conf. Proposal Prep



Dec 8-14	Reviewing Board Staff Submission	0.1	Settlement Conf. Proposal Prep
Dec 18-14	Reviewing Board's Decision and Order	0.2	Prep

Total Hours for Peter Thompson: 34.4

	<u>Hours</u>		<u>Fees</u>
Preparation	1.1	x \$330.00/hr =	363.00
Settlement Conf. Prep	3.8	x \$330.00/hr =	1,254.00
Settlement Conf. Attend	4.9	x \$330.00/hr =	1,617.00
Settlement Conf. Proposal Prep	24.6	x \$330.00/hr =	8,118.00
	34.4	Total Fees for Peter Thompson:	\$11,352.00

OTT01: 6668355: v1

Date Printed: Dec 3, 2014 16:32:56 ET

Nov 30, 2014 Nov 30, 2014

339583

000184

Disbursements Thru:

Time Thru:

Castanza, Suzanne EN Dec 2, 2014 Prebill Requested on: Prebill Requested by:

Prebill Printed by:

Matter Language:

Prebill # 5332382

Canadian Manufacturers & Exporters

Union Gas 2015 Rates Application

Matter Resp. Lawyer: 28261 P.C. Thompson Matter Billing Lawyer: 28261 P.C. Thompson Client Resp. Lawyer: 28261 P.C. Thompson

# TIME SUMMARY

Amount	1,885.00 736.00 10,032.00 \$12,653.00
Avg. Rate	290.00 230.00 330.00
Hours	6.50 3.20 30.40 40.10
Last Time Worked Date	Nov 11, 2014 Nov 14, 2014 Nov 28, 2014
Location	OTT OTT OTT TOTALS:
Timekeeper	V. J. DeRose E. Blanchard P. C. Thompson

Fee Amount:	69	Check if this is a final bill:	П
Fee Write Up/Down:	69	Reason for Write-off:	
Disb Write Up/Down:	Sept of the sept o	Reason for Write-off:	
Lawyer Signature:	SULLI HON	Group Head Signature	ıture:

# DISBURSEMENT SUMMARY

Description

LPIC Levy Surcharge - CL Laser Printing

TOTALS:

50.00 177.75 Amount \$227.75

Date Printed: Jan 5, 2015 11:41:25 ET

Dec 31, 2014 Dec 31, 2014 Disbursements Thru:

Time Thru:

339583

000184

Castanza, Suzanne Castanza, Suzanne Dec 24, 2014 Prebill Requested on: Prebill Requested by: Prebill Printed by:

Matter Language:

Prebill # 5346533

Canadian Manufacturers & Exporters

Union Gas 2015 Rates Application

Matter Resp. Lawyer: 28261 P.C. Thompson Matter Billing Lawyer: 28261 P.C. Thompson Client Resp. Lawyer: 28261 P.C. Thompson

# TIME SUMMARY

Amount	145.00 1,320.00 \$1,465.00
Avg. Rate	330.00
¥	
Hours	0.50 4.00 4.50
Last Time Worked Date	Dec 19, 2014 Dec 18, 2014
Location	OTT OTT TOTALS:
Timekeeper	V. J. DeRose P. C. Thompson

Fee Amount:	8	Check if this is a final bill:
Fee Write Up/Down:	€9	Reason for Write-off:
Disb Write Up/Down:	69	Reason for Write-off:
Lawyer Signature:		Group Head Signature:

# DISBURSEMENT SUMMARY

Description

Laser Printing

188.00 \$188.00

Amount

TOTALS:

### Ontario Energy Board COST CLAIM FOR HEARINGS



### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2014-0271	Process:	s: Union Gas Limited 2015 Rates Application				
Party:	arty: Canadian Manufacturers & Exporters		Service Provider Name:	Vincent J. DeRose	200000000000000000000000000000000000000		
	Service Provider Type	(check one)	Year Called to Bar	· ·	rs Practising/Years t experience		
	Legal Counsel	V	2001		13		
	Articling Student/Paralegal		<u> </u>				
	Consultant			Hourly Rate:	\$290.00		
	Analyst			<b></b>			
	For Consultant/Analyst:		CV attached	HST Rate Charged (enter %)	13%		
	•		CV provided within previous	s 24 months			

St	atement o	f Fees Beir	ng Claimed		
	Hours	Hourly rate	Subtotal	HST	Total
Preparation	0.50	\$290.00	\$145.00	\$18.85	\$163.85
Interrogatories					
Preparation	4.50	\$290.00	\$1,305.00	\$169.65	\$1,474.65
Responses	2.00	\$290.00	\$580.00	\$75.40	\$655.40
Case Management		\$170.00	\$0.00	\$0.00	\$0.00
TOTAL SERVICE PROVIDER FEES			\$2,030.00	\$263.90	\$2,293.90



File #:	EB-2014-0271		
Process:	Union Gas Limited 2015 Rates Application		
Party:	Canadian Manufacturers & Exporters		
Name:	Vince DeRose		
Oct 31-14	Reviewing evidence and drafting Interrogatories; reviewing Board Staff Interrogatories	4.5	Interrogatory Prep
Nov 11-14	Reviewing Interrogatory Responses	2.0	Interrogatory Responses
Dec 19-14	Reviewing Board Decision	0.5	Preparation
	Total Hours for Vince DeRose:	7.0	_

	<u>Hours</u>		<u>Fees</u>	
Preparation	0.5	x \$290.00/hr =	145.00	
Interrogatory Prep	4.5	x \$290.00/hr =	1,305.00	
Interrogatory Responses	2.0	x \$290.00/hr =	580.00	
•	7.0	Total Fees for Vince DeRose:	\$2,030.00	

### Ontario Energy Board COST CLAIM FOR HEARINGS



### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2014-0271	Process:	: Union Gas Limited 2015 Rates Application				
Party:	Canadian Manufacturers & Ex	(porters	Service Provider Name:	Emma Blanchard			
	Service Provider Type Legal Counsel Articling Student/Paralegal	(check one)	Year Called to Bar	completed rea	rs Practising/Years nt experience		
			2007		7		
			Land of the state				
Consultant Analyst				Hourly Rate:	\$230.00		
				•			
	For Consultant/Analyst:		CV attached	HST Rate Charged (enter %)	13%		
			CV provided within previou	s 24 months			

St	atement o	f Fees Beir	ng Claimed		
	Hours	Hourly rate	Subtotal	HST	Total
ADR - Settlement Conference					
Preparation	0.20	\$230.00	\$46.00	\$5.98	\$51.98
Attendance	3.00	\$230.00	\$690.00	\$89.70	\$779.70
Proposal Preparation		\$230.00	\$0.00	\$0.00	\$0.00
Case Management		\$170.00	\$0.00	\$0.00	\$0.00
		T			
TOTAL SERVICE PROVIDER FEES			\$736.00	\$95.68	\$831.68



\$ 736.00

File #:	EB-2014-	0271			
Process:	Union Ga	s Limited			
Party:	Canadian	Manufact			
Name:	Emma Bl	anchard			
Nov 13-14	Nov 13-14 Prepare for Settlement Conference; conference with V. DeRose and P. Thompson				Settlement Conf. Prep
Nov 14-14	Attend Settlement Conference				Settlement Conf. Attend
			Total Hours for Emma Blanchard:	3.2	_
		<u>Hours</u>			<u>Fees</u>
Settlement Co	nf. Prep	0.2	x \$230.00/hr =		46.00
Settlement Co	onf. Attend	3.0	x \$230.00/hr =		690.00

**Total Fees for Emma Blanchard:** 

3.2